Income Elasticity
In the same way that demand can vary if price changes; we have already learned that demand can change when incomes vary – for example demand for inferior goods rises when incomes fall and falls when incomes rise. 
Therefore, as well as being described as price elastic / inelastic, demand can also be described as income elastic / inelastic. 
[image: ]Some goods are classed as normal goods meaning demand rises as income rises, e.g. Salmon, Steak and so on.   These goods have positive income elasticity but of less than 1 (i.e. <1).

Other goods may find that their demand falls as incomes rise – these are inferior goods. 
For example, demand for Tesco everyday value crisps (an inferior good) would have income elasticity which is negative - meaning that sales have fallen as incomes have risen - Demand for Tesco everyday value crisps would be described as having negative income elasticity. 







[image: ]However, concert tickets for Billie Eilish may well have also have positive income elasticity.  
 This is because her concert tickets are seen as luxury goods.  Although there are some consumers who would never be able to afford to go and see her concert, she has 2.9m followers on twitter and many of these fans will be happy to pay high prices for tickets.  

Income elasticity is referred to as YED and is calculated in almost the same way as price elasticity: 
% change in quantity demanded
% change in income



Income elasticity can be a bit confusing; you need to decide if demand is income elastic or income inelastic then what type of product it might be e.g. a luxury good or an inferior good?  
[image: ]
	Income elasticity
	Explanation

	-  0.3
	Sales have fallen as incomes rise but only minimal – an inferior good.

	-  2
	If incomes raise then sales will fall dramatically:  an inferior good.

	0.4
	Incomes rise and sales rise by a small amount – a normal good

	6
	A luxury good people buy if they want to treat themselves with additional income
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@ Practice questions

3 Arise in average incomes locally fiom £25500 1o £26 100 keads to a business selling
3% mare units.
2 Caloulate this s income clusticity of demand.
b Explain what your answer 0 parta tells you about the fitm's products.

4 A business sels a range of producs. lts YED figures are outlined in Table 37,
Table 3.7

Productd

Product

Praduct3

Product s

2 Which product woukl you cxpect o do best in  rcession?

b Which product would you expect 10 see fhe grcatest rise i sales in prosperons
economic times, ¢

€ Which product s likely to b st affected by any changes in customer income?

ustomer incomestise by 20% and one af the products sees a fall in quantity
demanded of 2%, Which product wauld this be?

@ Why might businesses want 10 sell a range of products like thesc?

an ecanoniic boom?

5 A bus company estimates it bus travel service has an income elaticiy af demand
figure of 0156, Fus passeager numbers risc by 5% compared to the previous year
a Allother things remaining the same, what has happened to customer income?
b What other factors coukd explain the rise in bus passenger numbers?

6 The sales figures for twa sports car companies are outlined in Table 3.,

Table 3.8

Cormpany &)
Number ofcars sod lstyear | 4000 o0 |

Nt o sy | 4200 w ]

Over the past year, customer income rose by 3%
a Caleulate th
b Calculate the income elastiily for campany B' cars.

wcome clastieity for company A's cars.

€ Which company’s cars have the most income clastic demand?




